
Revised: 

7

8

9

11

9
8

11

10

10

4

8
8

1

7

7

3

5
6

5

6

2

5

7

5

7

5

TK95082 - 72" Deere Boot Kit

6-19-19

# Part # Qty Description

1 ST48565 1 Deflector 72

2 ST48533-02 1 Boot for 60" and 72" decks

3 ST48563 1 Rear Angle 72

4 ST48564 1 Boot Mount 72

5 ST65003 7 3/8 Flat Washer

6 ST65014 2 5/16 x 1 Flange Bolt

7 ST65097 7 5/16" Nylon Lock Nut

8 ST65140 5 5/16 x 1 Carriage Bolt

9 ST65006 2 5/16 x 3/4 Carriage Bolt

10 ST48505 2 Knob, 2 Arm 5/16-18 Thread Thru

11 ST65268 2 Push Nut ø5/16 bolt


